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2. 194 5 7tR] 9] AT A7l 5 Zo] FtEoA 3 AL %0} Al 22 9]
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2 13| A LAED = /ABC, AD =
4em, AE = 6cm, EC = 2cm € o, BD
o ol T3hul?

o

@ 6cm @ 7cm (@)8cm
@ 9cm ® 10cm

AABC O AAED 2] ©8H|7F2:10]E22:1=AB:6
AB = 12(cm)
x=12-4 = 8(cm)
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ATFSo A BRFSRE 7He 99 4= 1 3717
BuFSoA CutE 2 7H= 79-0] 4 1 2714]
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5. t& I3l4 oABCD 7FubEEY w, 2x ©F 2y ©f 2717

A
) E
0 WITie) D
X
C
@D x=90° y=45° @ x=95° y=45°
® x=90° y=40° @x=100°,y:50°

® x=100° y = 40°

~&B

E
Y

<
C
(1)2CBO = 40° ©]1, /BOC = 90° ]| 22,
/BCO =50°, /x = 2/BCO °| B2 &
o Zx = 100°
(2) ADEH ©]|4] /EDH = 40°, /DHE = 90°
ol= &, /DEH = 50°
Ly = (DEH (ZEZ|Z})o|B 2
oLy = 50°
oo Lx = 100°, £y = 50° o]t}




6.

thS Ido A AB//PQ//DC®]1 AB = 15cm, PQ = 9cm, BC =

20cm 2 o, DC + BQ 9] Zo|=?

BC-QC =20-12 =38 o|t}.
BC

ii)BQ:BC=8:20=2:50°|2&2
PQ:CD=9:x=2:5
_D:%Scmolt}

— —— 45 61
web] DC+BQ = = +8 = —(cm)
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DE ] ol
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2d

@ 6 @7  ©)s @ 9 ® 10

A A o4 BC of Halgt 2148 10 DE o Wit He
ot
D
A AAMF = ACME ©]E2 ME = MF
B 5 C
AF //BC ©]|22 DF = FE = 2ME =4
~.DE=DF+FE=4+4=38
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10.

@O AAPQ = AACQ

@
® (PAQ = /CAQ @pra-ac-qB
® (APQ =90°

< HO 2
AACQ, AP = AC, (PAQ = LCAQ, /APQ =




oS I 22 AABC 9|A] A 9] 9]Z}e] o] S RAT} £C 9] 279
ol5EAMe wAHE O g sty B = 50° Q o, LAOC 9] A7E
Fatolet (9, ©elE AEksitt)

D

AODA = AOEA (RHAZE) ©|E& /AOD = /AOE

AOEC = AOFC (RHA®HE) ©] 2 & /COE = /COF

oDBFO oA /B + /F + /DOF + /D = 360°

(AOE = za, /COE = /b 2} 5}

50°+90°+22a+2.b+90° = 360° . Za+ /b= 65° .. LAOC =
65°




12, o2 199 B3PS ABCD oM a+b
SER

D)19cm @ 20cm @ 2lcm

@ 22cm ® 23cm

(DAF = (CEF (- 592

(BAE = (CFE (.- 91z}

ACEF = o]5H 7t o] &lo] CE = CF, b = 8cm

ADAF & o]|5H 475 o] 517, pABCD ©|4] AB = DC ©]
oz

AD=DF =a=b+DC =8+3=1lcm
~a+b=11+8=19(cm)




13.
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14. & 139 HYPAIAY ABCD oA /ABE = /CBEY o, EC 9
Zdol& Fotd ?

® 9 @ 10 @11 @ 12 ® 13

(ABF = /EFD = /AFB = /FED
ODABCD 7} BAH o] 2 & DE = 4
DABCD 7} Aol B2 CD =7
. EC=CD+DE =11




15. o 293} 22 AABC oA LACB =
/C ©]1, DE = 5cm, BC =
ojltt, AACB = 18cm? 4 W, F=
T ALY S ol HaH U
AACB®} oDBCE 9] W o]9] B E 3}
H?
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o
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_O|L
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(@) sADECOAACE, 1:3, 1:8
@ AADECAACB, 1:4,1:8
® AADECAACB, 1:3, 3:15
@ AADECAACB, 1:4,1:9

® AADEWAACB, 1:3,1:9

S5 ~
AADE 0 AACB (AA &)
ojtf, FESHE=DE:CB=5:15=1:30]|22
AADE : AABC=1:9=18: AABC
. AABC = 162 cm? .. ODBCE = 144 cm?
w2tA AADE : oDBCE = 1: 8




